Dual Degree B. A. (Hons.)-M. A. (English)

Directions (Q. Nos. 1—3) : Supply the correct alternative (out of the four choices

given) in the blanks to make a correct sentence.

1. Diwali corresponds............. Christmas.
(A) to ®)
(C) with (D)

2.  Study hard lest you............. fail the exam.
(A) may ®)
(C) can (D)

3. The phonology of Haryanvi dialects
(A) Influence (B)
(C) Influenced (D)

for

none of these

should

would

............. English pronunciation.

Influences

Any of these

Directions (Q Nos. 4—14) : Choose the correct alternative (out of the four choices

given) :

4. The expression kid gloves means :

(A) treating carefully

(C) behaving childishly
5. ‘A Feather brained’ is :
(A) Nitwit

(C) None of these

(B)
(D)

(B)
(D)

covering the innocence

Living under the cover

Silly

Both (A) and (B)
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6. ‘A remedy for all diseases’ is :
(A) Medicine (B) Marvel

(C) Panacea (D) Recompense

7. Find the odd one out :
(A) Break down (B) Break out

(C) Break in (D) Break even

8.  Ad valorem is :
(A) according to the value (B) according to cost

(C) according to demand (D) according to utility

9. Choose the recommended one out :
(A) Show me this paragraph.
(B) Explain me this paragraph.
(C) Tell me this paragraph.

(D) Describe me this paragraph.

10. ‘A Parasol’ is :
(A) Where birds are kept (B) Where grain is stored

(C) An inscription on a tomb (D) A lady’s umbrella

11.  ‘Agoraphobia’ is fear of :
(A) Heights (B) Enclosed places

(C) Open Spaces (D) Crowd
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12. ‘Luggage lying at sixes and sevens’ means :
(A) In perfect order
(B) Missing
(C) In a state of disorder

(D) At numbered shelves

13. The recommended form of the sentence “I do that too” would be :
(A) Even I do so
(B) I also do that
(C) Sodol

(D) None of the above

14. The passive form of the sentence “we expect good news”. would be :
(A) Good news is expected by us.
(B) Good news will be expected.
(C) Good news is expected.

(D) News is good to us.

15. Not many people would be cruel and unjust to a specially enabled person. (Change

from negative to affirmative) :

(A) Very less men would be cruel and unjust to a specially enabled person.
(B) Only a few men would be cruel and unjust to a specially enabled person.
(C) No one would be cruel and unjust to a specially enabled person.

(D) Very few men would be cruel and unjust to a specially enabled person.
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Direction (Q. Nos. 16—17) : Identify the following sentence types :

16. Only in this way can we achieve total literacy.
(A) It is a compound sentence (B) It is a complex sentence

(C) It is a simple sentence (D) None of these

17. Should war break out again, we’ll rush to the hills ?
(A) It is a compound sentence
(B) It is a complex sentence
(C) It is a simple sentence

(D) None of the above

Direction (Q Nos. 18—21) : Fill in the blanks with appropriate phrases/words :

18. According to the minister’s orders, all officers.............. take appropriate action in
the matter.
(A) must (B) will
(C) should (D) may
19. Though the head was trustworthy, she gave her.............. hesitatingly.
(A) ascent (B) condone
(C) assent (D) signature
20. The speaker used harsh and fiery language to........... the mob to fury.
(A) excite (B) incite
(C) encourage (D) lead
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21. You behave as if you............the palace.
(A) owned (B) owns

(C) have owned (D) had owned

Direction (Q. Nos. 22—26) : Choose the numbered word that is most nearly opposite

in meaning to the word in capital letters.

22. APATHY :
(A) Sensitivity (B) Indifference
(C) Attitude (D) 1l regard

23. RANCOUR :
(A) Resentment (B) Umbrage

(C) Empathy (D) Grudge

24. GREGARIOUS :
(A) Social (B) Introvert

(C) Communal (D) Indifferent

25. DEROGATORY :

(A) Admiring (B) Disparaging

(C) Sympathetic (D) Dreadful
26. ELITE :

(A) Populace (B) Privileged

(C) Rustic (D) Expert
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Direction (Q Nos. 27—30) : Identify the word nearest in meaning to the word in

capitals:

27. COLLUSION :
(A) Conspiracy (B) Contact

(C) Congregation (D) Conjunction

28. POLYGLOT :
(A) Much-married (B) Many-languaged

(C) Many-husbanded (D) Much-feared

29. PERSPICUOUS :
(A) Conforming (B) Defiant

(C) Lucid (D) Perverse

30. DWINDLE :
(A) Scatter (B) Decrease
(C) Divulge (D) Embellish
31. Choosing the most appropriate alternative from the choices below, complete the
sentence meaningfully :
No sooner did she receive the message :
(A) when she left
(B) than she left
(C) then she left

(D) while she left
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32.

33.

34.

35.

Select the option that best explains the meaning of the underlined word in the

following quote :
“What a thunderclap these words were to me”
(A) Loud and Clear (B) Startling and unexpected

(C) Pleasant and welcome (D) Noisy and ambiguous

A poem of fourteen lines is called :
(A) Lyric (B) Sonnet

(C) Ode (D) Elegy

“The station was full of soldiers with brown baggages. Through the wide doors
of the sheds she caught a glimpse of the black mass of the boat, lying in beside
the quay wall, with illumined portholes. She answered nothing. She felt her cheek
pale and cold and, out of maze of distress, she prayed to God to direct her, to

show her what was her duty.” Name the story from where these lines are taken:
(A) I Sell My Dreams (B) Eveline

(C) A Wedding in Brownsville (D) Tomorrow

What does Stephen Spender’s use of imagery in “His eyes live in a dream, of

squirrel game, in tree room, other than this” bring out ?

(A) The similarities between the frail bodies of a squirrel and the children in

the classroom
(B) The comparison of the dingy home of the squirrel and the dreary classroom

(C) The contrast between studying in the dreary classroom and playing outside

freely

(D) The difference between the games of the squirrel and those of the children
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Direction : Answer the questions (36-37) based on your reading of the passage below:

“It was at this moment that both of them saw something black come out of the mists.
It was a man. He was flung up out of the ocean — flung, it seemed, to his feet by a
breaker. He staggered a few steps, his body outlined against the mist, his arms above

his head. Then the curled mists hid him again.”
36. Why did the figure of the man appear to be black ?
(A) Because of the mists (B) Because he was wounded

(C) Because of the dark night (D) Can’t be determined

37. What of the following would describe the walking style of the man ?
(A) Elegant (B) Offensive
(C) Defensive (D) Stranded

38. The quote “victory with no survivors, would put on clean clothes and walk about

with their brothers™ is a figurative example of :
(A) Assonance (B) Alliteration
(C) Both (A) and (B) (D) None of these

39. Match the following :

List-I List-1I

1. That one Wayfarer, mother, (A) The Financial Expert
the one

2. Bangle-makers, Ferozabad, (B) Tiger for Malgudi
Mukesh

3. Monkeys, owls and leopards  (C) Chandalika

4. An Ink bottle, a blotter, a pen (D) The Lost Spring

(A) 1-C, 2-D, 3-B, 4-A (B) 1-A, 2-C, 3-D, 4-B

(C) 1-C, 2-B, 3-A, 4-D (D) 1-A, 2-B, 3-D, 4-C
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40.

41.

42.

43.

44.

Identify the rhetorical figure used in the following line “face ashen like a corpse,

as a late winter’s moon” :
(A) Hyperbole (B) Pun
(C) Metaphor (D) Simile

The following poetic lines — “Now I’ll count up to twelve and you keep quiet

and I will go.” — can be attributed to :
(A) Pablo Neruda (B) Shakespeare
(C) Kamala Das (D) Tagore

Keats has used the metaphor of “an endless fountain of immortal drink” in “ A

Thing of Beauty” for :
(A) Beauty (B) Life
(C) Nature (D) God

Identify the rhetorical figure underlined in the following line “Vast majority of

youth today indulges to enjoy your own funeral” :

(A) Oxymoron (B) Synecdoch
(C) Assonance (D) Euphony

Which one of the following statements cannot be associated with G.B. Shaw’s

“Of Freedom” ?
1. Honest governments do not believe in impositions on its citizens.

2.  Governments give the public right to vote to give a cover to the facade of

slavery.
3. The present government has empowered the public to rebel against slavery.
4, Marx believed that slavery can be stopped by law.
(A) 1 only (B) 1 and 2 only
(C) Only 3 (D) All of these
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45.

46.

47.

48.

49.

50.

What did Charlie from “The Third Level” find in his stamp collection ?

(A) Hair Styles (B) Old Letters

(C) OIld Addresses (D) The First Day Cover

What is the rhyme scheme of Shakespearean sonnet ?
(A) ABAB CDCD EFEF GG (B) ABBA CDDC EE FGGF

(C) ABBC DEEF GHHG AH (D) ABCC DEEF GHII Al

Strike the odd one out :
(A) Hamlet (B) Macbeth

(C) Tempest (D) The Ways of the World

International (Earlier Man) Booker Prize is awarded to :
(A) The best English fiction

(B) The best translation into English fiction

(C) Both (A) and (B)

(D) Any Literary work

When was the Nobel Prize for Literature first awarded ?
(A) 1881 (B) 1901

(C) 1919 (D) 1920

Haiku, a short lyric poem has its origin in :

(A) Korea (B) India

(C) China (D) Japan
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51. Where does aunt Jennifer echo Adrienne Rich ?
(A) She criticises the institution of marriage
(B) She finds marriage to be oppressive for women
(C) She uses her embroidery to give a vent to her angst.

(D) All of them

52. Who among the following is the author of these lines :
“What I want should not be
confused
with total inactivity.
Life is what it is about;
I want no truck with death”.
(A) Adrienne Rich
(B) Pablo Neruda
(C) John Keats

(D) Stephen Spender

53. What does Milton suggest in “To Shakespeare” ?
(A) Shakespeare will be an inspiration for generations to come.
(B) Shakespeare’s genius has not been understood properly.
(C) Both of these

(D) Nomne of the two
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54. Find the odd match out :
(A) Should Wizard Hit Mommy — Franz
(B) On the Face of It — Derry
(C) The Rattrap — Edla Willmansson

(D) The Last Lesson — M. Hamel

55. Who does Marquez compare Neruda to in “I Sell My Dreams” ?
(A) School Principal (B) Religious zealot

(C) A Sychophant (D) Renaissance Pope

56. What is the mark on the wall in reality in the essay titled *“ The Mark on the

Wall” ?
(A) A nail mark (B) A snail
(C) A tomb (D) A swatted fly

57. Arrange the following choices in a decending/chronological sequence :
(a) Milton; (b) Shakespeare; (c) Wordsworth; (d) Alexander Pope
(A) cdba (B) abced

(C) abde (D) dcab

58. The winner of 2021 Nobel Prize for Literature is :
(A) Abdulrazak Gurnah (B) Louis Gluck

(C) Peter Handke (D) Annie Ernaux
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59.

60.

61.

62.

63.

64.

For which book of hers did Geetanjali Shree win the International Booker Prize

2022 ?
(A) The Empty Space (B) Tomb of Sand
(C) Mai (D) HamaraShaharUsBaras

Friendship in the Mahabharta is defined by :
(A) Duryodhana and Karna (B) Krishna and Arjun

(C) Krishna and Drupad (D) Drona and Bhishm

The Lakshagraha during Pandavas exile in the Mahabharta was built by :
(A) Sakuni (B) Dushashana

(C) Purochana (D) Duryodhana

Shershah, a Hindi movie is inspired by the life of :
(A) Sandeep Unnikrishnan (B) Balram Singh

(C) Vikram Batra (D) Abhinandan Varthaman

What does NATO stand for ?

(A) The North Atlantic Alliance

(B) The North Atlantic Organisation
(C) The North Atlantic Territory

(D) The North American Alliance

A person who is talkative is called :
(A) Speaker (B) Orator

(C) Garrulous (D) Speechmaker
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65. Misologist is the one :
(A) who hates women
(B) who hates language
(C) who hates knowledge

(D) who hates society

66. Agoraphobia is fear of :
(A) Enclosed Space (B) Water

(C) Crowd (D) Public space

67. Strike the odd one out :
(A) Lata Mangeshkar (B) Bappi Lehri

(C) Krishna Kumar Kunnath (D) Sidhu Moose Wala

68. When the USSR was established, it consisted of how many republics ?
(A) 11 (B) 13
(C) 15 (D) 17
69. Which article in Indian Constitution provides for the Election Commission ?

(A) Article 187 (B) Article 256

(C) Article 278 (D) Article 324

70. Which is the ‘animal-vehicle’of the Goddess Saraswati ?
(A) Peacock (B) Lion

(C) Owl (D) Bull
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71. In 2020 Tokyo Olympics India finished at 48th spot in the Medal Tally. What

was the number of Medals India bagged ?
(A) 5 ®B) 6
© 7 D) 8

72. Kalesar National Park shares its boundaries with which of the given states (Choose

the correct option) :

(i) Himachal Pradesh (i) Uttrakhand
(iii) Punjab (iv) Rajasthan
(A) (i) and (i) (B) (i) and (iii)
(C) (), (ii) and (iii) (D) None of these

73. Which of the following pairs are correctly matched ?

List 1 List 1I
(i) Classical Dance : Birju Maharaj
(i) Instrumentalist : Shiv Kumar Sharma
(iii) Vocalist : Sandhya Mukherjee

Select the correct answer using the codes given below :
(A) (i) and (ii) (B) (ii) and (iii)
(C) (i) and (iii) (D) (i), (ii) and (iii)

74. The following are the flagship public programmes of the government. Arrange

them in a chronological order of the start of the programme :

1.  Ayushman Bharat 2. Jan DhanYojna

3. MNERGA 4.  PM UjawalaYojna
(A) 3-1-2-4 (B) 3-2-4-1

(C) 3-4-2-1 (D) 3-2-1-4
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75. Which of the following is not correctly matched ?

(A) Keep your face always towards the sunshine, and shadows will fall behind

you. — Walt Whitman
(B) Independence through non-violence must be our aim. — Mahatma Gandhi
(C) Spread love everywhere you go. — Mother Teresa

(D) Life is like riding a bicycle. To keep your balance, you must keep moving.

— Albert Einstein

76. India will soon elect its........... President (fill in the blank) :
(A) 14th (B) 15th
(C) 16th (D) 17th

77. Who said “In a gentle way, you can shake the world” ?
(A) B.R. Ambedkar (B) M.K. Gandhi

(C) Jawahar Lal Nehru (D) Jyotiba Phule

78. Match the following :

List-I List-1I
1. Saurav Ganguli (A) 281 and Beyond
2. Sachin Tendulkar (B) The Test of My Life
3. VVS Laxman (C) Playing it My Way
4. Yuvraj Singh (D) A Century is not Enough
(A) 1-D, 2-C, 3-A, 4-B (B) 1-A, 2-C, 3-D, 4-B
(C) 1-B, 2-C, 3-A, 4-D (D) 1-B, 2-C, 3-D, 4-A
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79. Which of the following is the most soluble in water :
(A) Common salt (B) Sugar

(C) Camphor (D)  Sulphur

80. “The only hope of India is from the masses. The upper classes are physically

and morally dead” was said by :

(A) M.K. Gandhi (B) B.R. Ambedkar

(C) Swami Vivekananda
81. What is the hardest substance available on earth ?

(A) Gold (B) Iron

(C) Diamond (D) Copper

82. The famous Gayatri Mantra is from which of the following Vedas ?

(A) Rigveda (B) Samaveda

(C) Yajurveda (D) Atharvaveda

83. The sky looks blue because of :
(A) Presence of water vapour
(B) Absorption of blue light due to the air
(C) Scattering of sunlight by air molecules

(D) None of the above

84. World Environment Day is celeberated on.............. every year.
(A) April 5 (B) May 5
(C) June 5 (D) July 5

(2)M-CL-25(Dual Degree B.A.(Hons.)-M.A.(ENG)/A

(D) Ramaswami Naicker

17

P.T.O.



Direction (Q. Nos. 85-86) : The following base pair of words are related by logic.
On the basis of it find the pair of words from alternatives given as four options, which

shows the closest logical proximity to the given pair :

85. PAIN : SEDATIVE
(A) Comfort : stimulant (B) Grief : consolation
(C) Feeling : heart (D) Trance : narcotic
86. SOUND : CACOPHONY
(A) Smell : stench (B) Touch : massage
(C) Taste : style (D) Sight : blindness
Direction (Q Nos. 87-88) : The following questions below consist of words labelled

A to D. In each group, three of these words are misspelt and only one word is spelt

correctly. Choose the one correct word :

87. (A) Consceintious (B) Conscienteous
(C) Conscientious (D) Consiensious

88. (A) pnneumonia (B) pnumonia
(C) pneumonia (D) pnumonnia

89. ‘A disease of mind causing an uncontrollable desire to steal’ is :
(A) Schizophrenia (B) Psychasthenia
(C) Kleptomania (D) Megalomania

90. Which of the following pairs do not match :
(A) Cuckoo : coo (B) Donkey: bray
(C) Fly : purr (D) Bird: twitter

91. Which of the following pairs do not match :
(A) Fish : School (B) Wolf : Pack
(C) Frog : Army (D) Penguin : Brood

(2)M-CL-25(Dual Degree B.A.(Hons.)-M.A.(ENG)/A 18



92.

93.

94.

9s.

96.

97.

Yakshagan is the famous dance form of the state of :
(A) Kerala (B) Karnataka

(C) Accultration (D) Andhra Pradesh

Which of the following concepts explains caste mobility as a process of Social

and Cultural change ?
(A) Sanskritisation (B) Westernisation

(C) Secularisation (D) Modernisation

Which of the following is the basic concept common to Hinduism, Buddhism and

Jainism ?
(A) Dharma (B) Nirvana
(C) Karma (D) Kama

Which Indian has been appointed as the senior advisor to the Executive Director,

World Bank ?
(A) Surjith Bhalla (B) Utjit Patel

(C) Abhas Jha (D) Rajeev Topno

Who hosts the ‘At Home’ reception for freedom fighters as part of anniversary

of Quit India Movement ?
(A) Prime Minister of India (B) President of India

(C) Defence Minister (D) Home Minister

A cyclist covers a distance of 750 metres in 2 minutes 30 seconds. What would

be her speed per hr ?
(A) 16 km/hr (B) 17 km/hr
(C) 18km/hr (D) 19 km/hr
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Direction (Q. No. 98-99) : Each question has a statement followed by two assumptions.

Select the answer from the choices given :

98.

99.

Statement : The central government has decided to appoint 10000 teachers in

the country’s central universities in the current academic session.

Assumption :

1.
2.

(A)
(B)
(©)
(D)

There are enough vacancies lying vacant in the universities.

The eligible candidates may not be interested to apply assuming the
government will not finally appoint such a large number of teachers for

higher education.

Only assumption 1 is implicit.
Only assumption 2 is implicit
Both 1 and 2 are implicit.

Neither 1 nor 2 is implicit.

Statement : The railways has withdrawn senior citizen concession in rail fares

for journeys to religious places because it not needed for senior citizens to go

on pilgrimages because of pandemic threat.

Assumption :

1.

(A)
(B)
(©)
(D)

Railways should give concession only to senior citizens for journeys to

religious places.

Railways should not encourage senior citizens to undertake journeys in

pandemic times

Only assumption 1 is implicit.
Only assumption 2 is implicit
Both 1 and 2 are implicit.

Neither 1 nor 2 is implicit.
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100.

101.

102.

103.

104.

Supply the right letters for the question mark in the following series :
abc, abcy, abjcy, 2, a;bc,

(A) a;bic, (B) azbsycy

(C) azbscs (D) ajbyes

If in a code language ‘Bi Ae Li Ho’ means “One is sensitive enough”, ‘Ho iN’
means “enough sensible”, Na ‘iN’ means “not sensible” and ‘Bi Ae Li eN iN’ is
“One is sensitive and sensible”. In the same language what word stands for
CEand7’f7

(A) Ae (B) iN
(C) eN (D) Bi

The least perfect square number which is exactly divisible by 10, 12, 15, 18 is:
(A) 876 (B) 900
(C) 981 (D) 1024

Vimal leaves home at 8.00 a.m. and catches a 8.30 a.m. local bus that arrives at
the bus stop located quite far from his college at 9.00 a.m. His colleague, who
lives near the bus stop leaves her home to pick him up at 9.00 am. from the
bus stop as Vimal gets off the bus. Yesterday, Vimal left his home early and took
a 8.00 a.m. bus and arrived at 8.30 a.m. As his colleague was not there to pick
him up, he started walking towards the college. His colleague left home at the
usual time, saw Vimal walking, turned around, picked him up and drove him
college 10 minutes earlier than usual. For how long did Vimal walk before his
colleague picked him up ?

(A) 10 mins (B) 15 mins
(C) 20 mins (D) 25 mins
In a group of five, A is older than B but not as old as C. C is older than D and

E. D is younger than B but not the youngest. Who among them is at no. 4 in
the descending order ?

(A) A B) B
(€©) D (D) E
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10S.

106.

107.

108.

109.

In a class A is at no. 5 from the top and at no. 42 from the bottom of the class.

How many students are there in a class ?
(A) 45 (B) 46

(C) 47 (D) 48

Strike the odd one out :

(A) Jaipur Literature Festival

(B) Bangalore Literature Festival

(C) Khushwant Singh Literature Festival

(D) Hyderabad Literary Festival

While travelling by a car, the speed is 120 km per hr if A does not halt during
its journey, if it halts the speeds comes to 70 km per hr. What is the average
time of halt per hr ?

(A) 30 mts
(B) 25 mts
(C) 20 mts

(D) Cannot be determined from the data

‘Joint family system is good for successful marriages’ — this statement is :
(A) A fact (B) A value

(C) An opinion (D) None of these

A is the brother of B and B’s sister is C. The brother of D is E and D is A’s
daughter. What is the relation of E to B ?

(A) E is B’s uncle (B) E is B’s son

(C) B is E’s uncle (D) E is not related to B
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110.

111.

112.

113.

114.

115.

A girl covers some distance in 30 minutes at a speed of 10 km per hr. If she

walks at a speed of 15 km per hr, in what time she would cover the same

distance ?
(A) 10 minutes (B) 15 minutes
(C) 20 minutes (D) 25 minutes

If AVERAGE is written as GEVAAER, then TOURIST will be written as :
(A) STOTIUR (B) STTOIUR
(C) STOTUIR (D) TSTOIUR

If B is to the South of A and C is to the East of A, what is the location of B

with respect to C ?
(A) East-West (B) East-South
(C) South-East (D) South-West

A walks towards north and turns left and walks down one kilometre and again
turns left and walks two kilometre. He finds himself exactly one km west of his

starting point. How much did he walk northwards initially ?
(A) 1 km (B) 2 km
(C) 3 km (D) 4 km

I visited market ten days ago. I go to market every Tuesday. What day of the

week is today ?
(A) Tuesday (B) Wednesday
(C) Thursday (D) Friday

If 28 of July in a year is Thursday, the number of Sundays in that month is :
(A) 5 ®) 4
(C) o6 (D) Can’t say
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116.

117.

118.

119.

120.

What literary device is used in the lines below :

“ Earth felt the wound, the nature from her seat,
Sighing, through all her works, gave signs of woe.”
(A) Personification (B) Euphemism

(C) Allusion (D) Hyperbole

Find the next term in the alphanumerical series :
ZIA; X2D; V6G; T21K; R88N; P445Q
(A) N2676T (B) T2676N

(C) N2676S (D) T2670N

In a race G was not first. J] came in after H, I was not ahead of M. G was not
in front of J. I was not fourth of fifth. M was not first. Who finished first and

second in the race ?
(A) H followed by M (B) H followed by J

(C) H followed by G (D) Cannot be determined

Assume that the three of the following four dates in the year 2004 are right.

Which one would be wrong ?
(A) Sunday, 21st of February (B) Sunday, 17th of January

(C) Sunday, 19th of March (D) Sunday, 10th of April

A tailor had a number of shirt pieces to cut from a roll of fabric. He cut each
roll of equal length in 10 pieces. He cut at the rate of 45 cuts a minute. How

many rolls would be cut in 24 minutes ?
(A) 32 rolls (B) 54 rolls

(C) 108 rolls (D) 12008 rolls
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